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E6>=EF64 <4F5D<4?>6. �<47D4<<O E>EF>O=<O. �?4EE<D<>4F<O 
M?5>FD>D44<><4F5D<4?>6 =4 >E=>65 7>==>= F5>D<< M?5>FD>?D>6>4=>EF< F65D4OE 
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�E=>6=O5 ?4D4<5FDO ?D>6>4=<>>6OE <4F5D<4?>6: G45?L=>5 E>?D>F<6?5=<5, 
F5<?5D4FGD=O= >>MDD<F<5=F G45?L=>7> E>?D>F<6?5=<O, >>MDD<F<5=F 
F5??>?D>6>4=>EF<, �>MDD<F<5=F F5D<>--�%, F5<?5D4FGD=O= >>MDD<F<5=F 
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EGM=>EFL D<7<G5E><E ?D>F5EE>6, ?D>F5>4NM<E 6 M?5>FD>==OE ?D<5>D4E < 

GEFD>=EF64E; ?D<=F<?O <E?>?L7>64=<O >><?>=5=F>6 M?5>FD>==>= F5E=<>< 6 
M?5>FD>==OE EE5<4E < ?D<5>D4E. 

�>EFG?4NM<= 4>?65= G<5FL: 
4=4?<7<D>64FL >E=>6=O5 ?4D4<5FDO M?5>FD>==OE EE5< < ?> =<< >?D545?OFL 

D45>F>E?>E>5=>EFL GEFD>=EF6 M?5>FD>==>= F5E=<><; ?D><76>4<FL ?>45>D 
M?5<5=F>6 M?5>FD>==>= 4??4D4FGDO ?> 7444==O< ?4D4<5FD4<; ?> 7444==O< 
?4D4<5FD4< D4EEG<FO64FL < <7<5DOFL ?4D4<5FDO F<?>6OE M?5>FD>==OE GEFD>=EF6. 
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�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 
6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< % 
(D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 ?D56OL45F 
100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
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4) <>==GN ?D>6>4<<>EFL; 
5) D>F>?D>6>4<<>EFL; 
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6) M?5>FD>==GN ?D>6>4<<>EFL. 

2. �?O >?<E4=<O M?5>FD>?D>6>4=>EF< <5F4??>6 E?54G5F <E?>?L7>64FL: 
4) >?4EE<G5E>GN EF4F<EF<>G; 
5) EF4F<EF<>G $5D<< - �<D4>4; 
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5) < 0,1 �<·<; 
6) < 1 �<·<. 
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-6�<�<. &4> >4> 6 D>D<G?5 <<55F <5EF> 

D47=<F4 F5<?5D4FGD (T- &0), F> 5U 54<=<FO <7<5D5=<O 7=4G5=<O =5 <<5NF. 

�F65F: S=10 <<² 
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